BEEINSGEH —nznaran)

=L VN
FE A I—RBEK =X H23 H24 H25 H26 H27 H28 H29 H30 H31(R1)
ABEFER £FHRE0—X R G — 8 (RBE) 3 7 4 2 4 4 6 2
SEERYEHE—E(RE) 3 6 4 2 4 4 6 2
KEEEL 5 11 3 4 1 — — — —
fBHaEa—X FEE RS — 1 (RE) 1 1 2 1
SEERHHE—E(RE) 1 1 2 1
SEFERHM—E (18 1 2 1
NEEUTZERER 11 10 7 3 6 8 3
HEmU - ZERER 10 5 5 5 3 6 6 3 5
BETHAO—X PERBHE —E(RE) 1 1
SEERHHE—E(RE) 1 1
SEERHM—TE(ITE) — — — - 1
—RBETZERER 10 5 3 2 2 5 4 8
“HREBEELTZEBRER 10 5 3 2 2 5 4 8
BYEREZH PR G — 7 (RBE) 6 2 — — — — — —
SEERYHA—TE(RE) 6 2 - — — — — —
KEHM—TE 10 7 6 4 8 10 10 10 11
XEL 77 88 80 72 42 66 65 60 79
EEXBELTZERER 77 87 77 69 37 65 64 56 79
NEXRDEHICBTHERIMGE BT %
24 OI—R-HIW B H23 H24 H25 H26 H27 H28 H29 H30 H31(R1)
ABMEZRFR &£FERE0—X PR G — 7 (RBE) 33.3 43.7 57.1 33.3 0.0 50.0 66.6 100.0 25.0
SEERYHA—TE(RE) 33.3 375 57.1 33.3 0.0 50.0 66.6 100.0 25.0
KEEEL 55.5 68.7 42.8 66.6 100.0 — — — —
f2Hta—x PR G — 7 (RBE) 9.0 0.0 12.5 0.0 50.0 16.6 0.0 0.0 0.0
SEERYHA—TE(RE) 9.0 0.0 12.5 0.0 50.0 16.6 0.0 0.0 0.0
=EFERY G —E (31 9.0 0.0 0.0 0.0 50.0 16.6 0.0 0.0 0.0
NERUTZERER 100.0 100.0 75.0 70.0 75.0 100.0 100.0 0.0 429
e+ ZEBRER 90.9 50.0 62.5 50.0 75.0 100.0 75.0 100.0 71.4
BETHAO—X hEREGH —TE(RE) 10.0 0.0 0.0 0.0 0.0 50.0 0.0 0.0 0.0
SEEREE—TE(RE) 10.0 0.0 0.0 0.0 0.0 50.0 0.0 0.0 0.0
SEERYM—TE(IE) — — — - 0.0 0.0 0.0 0.0 12,5
—REBETZERER 100.0 100.0 100.0 0.0 100.0 100.0 100.0 100.0 100.0
ZHREBEELTZEBRER 100.0 100.0 100.0 0.0 100.0 100.0 100.0 100.0 100.0
BYMEREZH R E—E (RE) 7.7 2.2 0.0 — - — — — -
SEEREE—TE(RE) 7.7 2.2 0.0 — - — — — —
KEHE—TE 12.9 7.9 75 5.5 19.0 15.1 15.3 16.7 13.9
FE+ 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
EEXETZRER 100.0 98.8 96.2 95.8 88.0 98.4 98.4 93.3 100.0




